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12. Health and safety principles and coverage
Worksheet 7: Evaluation of risks (tutor)
1. Using the consequence and likelihood tables and consulting the risk matrix provided by your tutor, work out a risk score for a machine operator using a metal lathe without a chuck guard. What score will you give the risk? Green, amber or red?
Learners will need to make an educated assessment of the likelihood of the hazard, and also to assess the severity of the impact should it occur, before they can evaluate the risk. You may wish to provide guidance here. The key objective is that they understand what information they need to evaluate a risk and how to calculate the risk using the tables and matrix.

Possible solution:

Consequence of injury without a chuck guard 4
Likelihood of injury is 3 (possible)
3 x 4 = 12
Amber = medium to high risk




2. Using the tables and matrix, work out a risk score for an operator making adjustments to a robot arm that is not electrically isolated. What score will you give the risk? Green, amber or red?
Consequence of injury without isolation 3
Likelihood of injury is 3 (possible)
3 x 3 = 6
Yellow = medium to low risk
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